MWKPOPE3bBOMPE3b

CEPUA 98M

[TAPAMETPbI: OBPABATbIBAEMbIE MATEPUATIbI:

menko . J i ' .

(TanaapTHaA AnnHa

MeTpuueckas Kon-eo d (mm ApT. Ne ApT. Ne
pesfﬁa D (mm) 3y6beB (h6 ) Emm} e (mm) (6e3 HF())KprTVIFI) (noprlr':'ue ALTIN)
M0.5x0.125 0.30 2 8 38 1.0 | 98M05-0125.2FA1 | 98M05-0125L2FA1
MO0.6x0.15 0.37 2 3 38 1.0 | 98M06-0150.2FA1 | 98M06-0150L2FA1
MO0.7x0.175 0.45 2 3 38 2.0 |98MO07-0175.2FA1 |98MO07-0175L2FA1
M0.8x0.20 0.51 2 3 38 2.0 |98M08-0200.2FA1 |98M08-0200L2FA1
M0.9x0.25 0.58 2 3 38 2.0 | 98M09-0225.2FA1 | 98M09-0225L2FA1
M1.0x0.25 0.65 2 3 38 5.0 |98M10-0250.2FA1 |98M10-0250L2FA1
M1.1x0.25 0.75 4 3 38 5.0 | 98M11-0250.4FA1 | 98M11-0250L4FA1
M1.2x0.25 0.85 4 3 38 5.0 | 98M12-0250.4FA1 |98M12-0250L4FA1
M1.4x0.30 1.00 4 3 38 5.0 |98M14-0300.4FA1 |98M14-0300L4FA1
M1.6x0.35 1.15 4 3 38 7.0 | 98M16-0350.4FA1 |98M16-0350L4FA1
M1.8x0.35 1.35 4 3 38 7.0 |98M18-0350.4FA1 |98M18-0350L4FA1
M2.0x0.40 1.50 4 3 38 7.0 | 98M20-0400.4FA1 |98M20-0400L4FA1
M2.5x0.45 1.95 4 4 50 9.4 | 98M25-0450.4FB1 |98M25-0450L4FB1
M3x0.5 2.40 4 4 50 9.4 | 98M30-0500.4FB1 |98M30-0500L4FB1
M3.5x0.6 2.80 4 4 50 9.4 | 98M35-0600.4FB1 |98M35-0600L4FB1
M4x0.7 3.10 4 6 64 12.7 | 98M40-0700.4FB1 |98M40-0700L4FB1
M5x0.8 3.85 4 6 64 12.7 | 98M50-0800.4FB1 |98M50-0800L4FB1
M6x1 4.65 4 6 64 12.7 | 98M60-1000.4FB1 |98M60-1000L4FB1
M8x1.25 5.95 4 6 64 12.7 | 98M80-1250.4FB1 |98M80-1250L4FB1

)
]
L
o
S
(=4
r=
-a
]
L
o

34

—o— T




